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1. 'lok khwxIAW dI Kwnw-bdoSI' inbMD dw ivSw-vsqU

kI hY?

jW

'pMjwb dIAW lok klwvW' inbMD dw swr ilKo[

12

2. hyT ilKy pYrHy dw pMjwbI ivc Anuvwd kro :

Language is a means of communication. There are

other means of communication like dance, music,

paintings, films, gestures, signs, signals, but

language is very easy and simple means of

communication among these. A French scholar

defined that language is a sign system which

express ideas. He also defined that where there is

a sign there is a language. 9

3. vwk bwry qusIN kI jwxdy ho? audwhrxW sihq ibAwn

kro[

jW

vwkwqmk jugqW qoN quhwfw kI Bwv hY? 12

4. hyT ilKy vwkW dI BwSw dw ivvhwrk ivAwkrnk

ivSlySx kro :

1. kuVIAW ausy qrHW hQ pkV ky gwauNdIAW Aqy

GuMmdIAW hn[ ies vwk ivc ikirAw dw myl

ikhVy Sbd nwl hY?
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2. hV`pw kwl dIAW mUrqIAW qy moien-jo-dVo dy

Qyh ivcoN iek qWby dw bu`q imilAw hY ijs ivc

iek lVkI nwc dI mudrw ivc ivKweI geI hY[

ieh ikho ijhw vwk hY?

3. hux ipMf iek aus qrHW dI siBAwcwrk iekweI

nhIN irhw[ ieh ikho ijhw vwk hY?

4. pMjwb dy ipMfW dI AwriQkqw vwhI KyqI dI cUl

duAwly GuMmdI hY? ies vwk ivc ikhVy kwrk

dI vrqoN kIqI geI hY?

5. PulkwrI dw jnm kdoN Aqy ikvyN hoieAw? ieh

iks iksm dw vwk hY?

6. kuVIAW dIAW KyfW dI bxqr v`KrI iksm dI

huMdI hY[ ies vwk ivc ikhVw kwrk vriqAw

igAw hY? 6×2=12
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5. hyT ilKy swry pRSnW dy sMKyp au~qr idE :

1. blivMdr gryvwl dy ilKy inbMD dw kI nW

hY?

2. 'lok nwcW dw jnm Aqy ivkws' nW dw inbMD

iks lyKk dw iliKAw hY?

3. 'qIAW' dw iqauhwr kdoN Aqy ikvyN mnwieAw jWdw

hY?

4. muMifAW Aqy kuVIAW dIAW cwr-cwr KyfW dy nW

d`so[

5. suKdyv mwdpurI dy ilKy inbMD dw kI nW hY?

6. hrjIq kOr ny ividAk Xogqw ikQoN hwsl

kIqI?

7. jIq isMG joSI ny AiDAwpn dw kwrj ik`Qy

kIqw?



8. igAwnI gurid`q isMG dIAW do pusqkW dy nW

d`so[

9. sDwrn vwk kI huMdw hY?

10. sMXukq vwk qoN quhwfw kI Bwv hY?

11. vwk Aqy vwkMS ivc kI &rk huMdw hY?

12. aupvwk ikMnI qrHW dy huMdy hn?

13. kwrk qoN quhwfw kI Bwv hY?

14. sDwrn kwrk Aqy sbMDkI kwrk ivc kI AMqr

hY?

15. myl iks nUM kihMdy hn? 15×2=30
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